
LSG60     LSG75    LSG90 Waterlock type LSG Waterlock type LSG

pos. qty part benaming description

1 1 LSG60 Waterlock LSG60 compleet Waterlock LSG60 complete

1 LSG75 Waterlock LSG75 compleet Waterlock LSG75 complete

1 LSG90 Waterlock LSG90 compleet Waterlock LSG90 complete

2 2 UL001 Slangaansl. Ø 60 Hose connection Ø 60

3 2 UL002 Slangaansl. Ø 75 Hose connection Ø 75

4 2 UL003 Slangaansl. Ø 90 Hose connection Ø 90

5 4 UL005 Klemring slangaansluiting Clamping ring hose connection

6 2 UL006 Afdichtring Ø 100 x Ø 90 x 3 mm Seal Ø 100 x Ø 90 x 3 mm

7 4 M04BR Zelfborgende zeskantmoer M4 rvs Prevailing torq hex nut M4 ss

8 4 B04357R Cilinderkopschroef M4x35 Hex socket head cap screw M4x35

9 1 LSG007 Waterlock LSG Waterlock LSG

10 1 DRAIN Aftapplug Drain plug

11 2 LSG003 Bevestigingsband 1 m Mounting band 1 m

12 1 030412.05 Installatie instructie Installation instruction

13 1 RF110076 Rubberflap compl. Rubber flap compl.

14 2 M05BR  Zeskantmoer M5 Hex nut  M5 

15 2 R052R Vlakke sluitring M5, 3D Plain washer M5, 3D                   

16 2 LSG603 Schroef met ronde kop en vierkante hals M5x30 Round head screw with square neck M5x30 

8

10

9

11 12

13

14

16
15 7

2, 3, 4

6

5

1

FOKKERSTRAAT 571 - 3125 BD SCHIEDAM - HOLLAND  TEL.: +31 (0)88 4884700 - sales@vetus.nl - www.vetus.com 030432.01  2022-03

Service parts  LSG60 - LSG75 - LSG90


